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QUESTION 1

If you want to modify the workers\\' payments when a certification requirement has passed its due date, what three rules
can you select when you create the absence certification? (Choose three.) 

A. Adjust 

B. Revise 

C. Recalculate 

D. Retract 

E. Override 

F. Stop Payments 

Correct Answer: CDE 

 

QUESTION 2

Which two statements are correct about absence types? (Choose two.) 

A. Define absence payment information to transfer for payroll processing. 

B. Define waiting period for newly enrolled workers. 

C. Determine the type of adjustments Human Resources specialists can make during maintenance of absence records. 

D. Control the appearance of user interfaces. 

E. Include rules to enforce when users record or manage an absence of that type. 

Correct Answer: DE 

 

QUESTION 3

A customer created a public holiday on the 25-Dec-2018 (Tuesday) and assigned it to a geography to which an
employee belongs to. However, the employee does not have a work schedule assigned. The employee records an
absence from 24-Dec-2018 (Monday) to 26-Dec-2018 (Wednesday) using an absence type that measures duration in
Days. 

What will be the duration of the absence recorded? 

A. 2 

B. 4 

C. 3 

D. Absence cannot be recorded without a work schedule. 
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E. 1 

Correct Answer: A 

 

QUESTION 4

You configured a donation plan in your organization for workers to donate accrual plan balances to coworkers. But when
a donation was initiated by one of the workers, the accrual plan could NOT identify the donation plan. 

Which two are possible reasons the accrual plan failed to identify the donation plan? (Choose two.) 

A. You need to create donation and compensatory plans to initiate the donation. 

B. The worker receiving the donation, needing additional time off, was not enrolled to the donation plan. 

C. The unit of measure for the donation and accrual plans is different. 

D. The worker receiving the donation, needing additional time off, was not enrolled to the accrual plan. 

E. The plan limits for the donation and accrual plans are different. 

Correct Answer: AB 

 

QUESTION 5

Which statement is correct about rate definitions? 

A. You can associate rate definitions to absence certifications. 

B. You can associate rate definitions to absence types. 

C. Rates are calculated and resolved in Absence Management. 

D. You can associate rate definitions to absence plans. 

Correct Answer: D 
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